Cycle 2 Day 2 Horizontal Translations of Quadratics-f17d November 6, 2017

Date: - I
LEARNING TARGET: U

“I can apply horizontal translations to the "mother graph" of a quadratic relation,
then use the “step pattern” to graph.”

Horizontal Translations of Quadratics

Ex.1 From last day, the “mother graph” for = x” is given.

a) y=x’ b) y:(x+3)2
X }!:_1{_’2 X y:(_r+3)l
5| 25 -5 |[Cs+D = oY ¢
-4 16 -4 Cary s Y=
-3 9 -3 |Gy = o
-2 4 -2 ﬂ)+3\°¢ (S =y
1) 1 -1 (S =¢
0| © 0 |~
1] 1 1 |43 2/
z 4 2 Jaeyyrs® =av
3 9 3 (‘i-f‘s)}*c,;:_s,g_
f. ;i D <"(+5)‘: ?Z—* 4q
51 22 N 64322 6y

Vertex (O ,0 ) Vertex <3.0 )

From the vertex, the step pattern is: OVER UP
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We will now use “step patterns” instead of a table of values.
Ex.2 Ingeneral, y=(x- h)2 Vertex (| ,0 ) X
D y=(x+2) and b y=(x-5] \ES (3T (0
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Today’s Entertainment: PRACTICE
1. Graph two parabolas per grid:

a) y:(x+6)2 and b) y:(x—1)2 C) y:xz—l() and d) y=(x—7)2+5
Vertex ( , ) Vertex( , ) Vertex (O 0 ) Vertex (L, <)
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e)y:(x—5)2—3 and f) y:(x+7)2+10 g)y=(x+4)2—8and h) Y=
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